1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

=
o
w

=
o
N

=
(@)

[HEN

1071

1072

1073

0.5

7000 GeV pp W+Jet
:l_ T I T I T I I T | T I T I T I T I T | T I T I__ ﬂ
— — <
- Trimmed jet mass (anti-k (0.7), 220<p_<300, |y|<2.5) EF
B T
o
o™
= =
— ] d
| —
- o
N o
- _lo
= ==
— -
= En
— — ™M
— - <
- —m
N 1S
o
™
—— —
= 3=
- X
- m CMS 1<
| —&— Pythia 8.170 default e
S ¢ Sherpa 2.2.9 default = 3
= G
N o
o
(&)
?!_ ' | | | | ! ! | ' | | ! | !_f E
= . =2
1
| — 0.5
| |

ISOllllllllllCl)O'
(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


